X:\PROJECTS\21529 Wendys Tampa FL (North Dale)\CADD\STRUCT\21529 Issue for Permit 1.12.2022\21529S2_1_Roof Framing Plan and Sections.dwg, S2.1, 1/12/2022 12:52:11 PM, croberts, DWG To PDF.pc3, ARCH full bleed D (24.00 x 36.00 Inches), 1:1

COORD. W/

NWOOD STRUCTURAL
PANEL ROOF SHEATHING

| T/FRAMING

ARCH. DIWES.

SIMPSON

H3 (TYP.)——\

/—2x6 AT l6" OC.

X

TSEE ARCH. DNGS.
(EL. IIT'-6" MAX.)

g

/\CONT. 2xo RIM JOIST, TYP.

CONT. (2) 2x6 PL. 7 .

WOOD STRUCTURAL PAV
WALL SHEATHING, TYP.

2x6 AT I6" OC. —/
2x6 AT 16" O.C. W/ (4)
I0d NAILS AS SHOWN <

2x6 BRACE AT 6" O.C.
LAP BRACE TO STUD EE.
AND FASTEN W/ (4) lod
NAILS

CONT. (2) 2x®& PL. FASTEN PL'S. TO
EXIST. TOP PL. W/ (2) SIMPSON

SD25412 SCREWS. PROVIDE SOLID
WooD SHIMS BETWEEN TOP OF

UPPER PL. AND BOT. OF EACH
HORIZONTAL 2x6 BRACE, ——— |

S~ SIMPSON A35 CLIP

\ e 32" o0cC.

Y

N CONT. (2) 2x6

/\2x6 AT l6" OC.

|_— SIMPSON A35 EA. SIDE OF LAPPED
STUD/BRACE. FASTEN TO STUD/BRACE
AND CONT. PL. W/ (6) 10d x 1-1/2" NAILS
(12 TOTAL NAILS PER A35).

SIMPSON SP2 CLIP

AT EACH STUD

EXIST. 2x& WD. PL. W/ 1/2" DIA. ANCHOR
RODS AT 48" O.C. F.V. INSTALL ANCHOR
ROD W/ SIMPSON SET XP EPOXY (8" MIN.
EMBED) IN GROUTED CMU IF NOT EXIST.

EXIST. 20 GAGE STEEL
ROOF DECK. (F.V.)

(4) lod NAILS (TYP.)

\
| T/EXIST. CMU. 112'-8" (+/-)
TFIELD VERIFY ®
2x® TO CONN. TO CONT. 2x o . i
LEDGER

CONT. P.T. 2x® LEDGER.
FASTEN TO EXIST. CMU. W/ (2)
I/4" DIA. x6" TITEN MASONRY

SCRENWS W/ I-1/2" EMBED. IN /
GROUTED CMU & SIMPSON BP

<XI5T. STEEL ROOF JOIST

#2 TEK SCRENS @ 4"
0.C. DECK TO NEW
B BLKG. (& TOTAL)

=

COORD. W/

NWOOD STRUCTURAL
PANEL ROOF SHEATHING

| T/FRAMING

ARCH. DINGS.

SIMPSON

H3 (TYP.)——\

| ——26ATI6 0c.

X

TSEE ARCH. DNGS. HX

(EL. IT-6" MAX.)

N

/ /\GONT. 2x6 RIM JOIST, TYP.

CONT. (2) 2x6 PL. 7
WOOD STRUCTURAL PAV
WALL SHEATHING, TYP.

2x6 AT 16" OC.

2x6 AT |I6" 0C. W/ 1od
NAILS AS SHOWN

2x6 BRACE AT 6" O.C.
LAP BRACE TO STUD EE.
AND FASTEN W/ (4)
SIMPSON SD525300
SCRENWS.

CONT. (2) 2x& PL. FASTEN PL'S. TO
EXIST. TOP PL. W/ (2) SIMPSON

SD25412 SCREWS. PROVIDE SOLID
WoOD SHIMS BETWEEN TOP OF

UPPER PL. AND BOT. OF EACH
HORIZONTAL 2x6 BRACE, ——— |

\

/

vy

S~ sIMPSON A34 cLIP
@ 32" ocC.

\\———GONT. 2- 2x6

/\2xb AT l6" OC.

/

SIMPSON A35 EA. SIDE OF LAPPED
STUD/BRACE. FASTEN TO
STUD/BRACE AND CONT. PL. W/ (6)
lod x 1-1/2" NAILS (12 TOTAL NAILS
PER A35).

ROD W/ SIMPSON SET XP EPOXY (8" MIN.
EMBED) IN GROUTED CMU IF NOT EXIST.

EXIST. 20 GAGE STEEL
ROOF DECK. (F.V.)

(4) lod NAILS (TYP.)

| T/EXIST. CMU. 112'-8" (+/-)

SIMPSON SP2 CLIP

AT EACH STUD

EXIST. 2x& WD. PL. W/ 1/2" DIA. ANCHOR
RODS AT 48" O.C. F.V. INSTALL ANCHOR

<XI5T. STEEL ROOF JdOIST

TFIELD VERIFY

2x& TO CONN. TO CONT. 2x
LEDGER

IOK
| —

\M‘f: ﬁﬁ(‘v —

O.C. DECK TO NEW

it BLKG&. (& TOTAL)

CONT. P.T. 2x& LEDGER.

\
%%\\

(\—

\
5/8-3 BOLT AT 16" O.C. T BLKG. REF. 04/52.] FASTEN TO EXIST. CMU. W/ (2)
< e o2 CONT. L5x5x4 W/ Jp'® SCREWS W/ |-1/2" EMBED. IN "o wa
BEAM REF. PLAN f x4" TITEN MASONRY GROUTED CMU ¢ SIMPSON BP ] CONT. L5x5x2 W/ o' x4" TITEN MASONRY
' / - SCRENS TO WALL © 5/86-3 BOLT AT 16" O.C. SCREWS TO WALL e 16" 0.C.
2x6 @ 32" O.C. (HORIZ) ® 6" 0C. P, \_
268 92" 0C, \hoxiz) S SIMPEON H3 CLIP (TYP) ——— | EXIST. BRICK TO REMAIN (F.V.)
. . . N SIMPSON SP2 EA/ SIDE ————__| ~_| \_.
OF THE STUD EXIST. CMU
= ) EXIST. BRICK TO REMAIN CONT. 2x6 W/(2) #12
SIMPSON A35 CLIP (TYP.) e - - SCREWS @ 16" 06, — /—CONT- P.T. 2x6 LED@E‘?- FA5T%N TO
INSTALL USING SCRIWS flo I BRACE EACH SIDE OF BEAM REF. PLAN EXIST. CMU. W (3) 1/4" DIA. x6
" \ STUD AT BEAM : TITEN MASONRY SCREWS IN GROUTED
- - CMU AT 16" OC.
CONT. P.T. 2x& LEDGER. Y / 3
FASTEN TO EXIST. CMU. W/ N EXIST. MU | B.O. FRAMING ; ¢ T0. (E) OPNG.,
(3) 1/4" DIA. x6" TITEN TREF. ARCH. = FV. *
MASONRY SCRENS W/ I-1/2"
EMBED. IN GROUTED CMU
AT 16" OC. @ 5-0" VERT. SIMPSON A35 CLIP (TYP.)
INSTALL USING SCRIWS
0 SCALE: 3/4" = I'-0" 0 SCALE: 3/4" = |'-0"
REF. PLAN WD. STRUCTURAL
/‘ PANEL ROOF
/ SHEATHING
T./FRAMING SEE$
2x BLKG. L . | . ARCH. DIWGS.
_’\& I Cx (EL.= IIT-6" MAX) (E) BRICK
f o o I ° 4
(4) 10d NAILS P.T. 3xI2
(TYP.) / S~ (4) 10d CONT. BLKG. ffékl;l';‘;% PNy
. NAILS (TYP.) BEHIND EOR IF NOT PRESENT
g CANOPY
I | e PT. 4x6 W/ 2- 8'®
] SCREN ANCHORS @
! 26 @ l6'oc. 16" O.C. W/ 2" MIN,
EMBEDMENT EA.
WD. STRUCTURAL ANCHOR
A P i .
SHEATHING 3 x4 4" METAL
/ | SHEATHING PL26"A4"x4 DECK : — %" ® A36 THRD. ROD
| ( - S BOLT W/ WASHER @
* e ~_| (E) cMU & e 18"0.C. (MAX.) (TOTAL
. T——— 2x6 BRACE o ) WALL (FV.) I 4 MIN.)
1 32" 0.C. (MAX) g
s W/ (3) 10d NAILS \ :B
o - | 4x4xt BLKG. /
\: PER PLAN <
2x6 STUDS He P !
o 16'0C. Yo (E) ANGLE (B M G | b
| LEDGER WALL A )
\/, J\ i (BN FULLY % - g
—= — GROUTED BN
R S (E) STL. JolsT oMU FEEEEEH
C. D REF. PLAN :3| \/
Al CANOPY FRAME REF.

\

0 PARTIAL WALL SECTION

SCALE: |" = |-0"

0

SECTION

SCALE: 3/4" = I-0"

0

ARCH. MNFR,
(3'-O" CANTILEVER MAX)

CANOPY CONN. DETAIL

SCALE: | 1/2" = I-O"

COORD. W/ ARCH

(3) KlN@ 3“0" (MAX)L
STUDS (TYP.)
- INSTALL 2x P.T. TO EXISTING W/
(2) Ja"d x6" TITEN MASONRY SIMPSON HUC6IO
} SCRENWS @ & O.C. VERTICAL N
L - - - - - - : i A
L\ T 03 W
\ Sel
T2
| | N>
— e ————— — —\ ol < f|n
n o
)
i o1 f o
\ J
i :
T (3) JACK STUDS
W LSTA24 EA.
N SIDE HDR TO
BLOCKING \/BEAM -
BEHIND BLADE (3) 2xI12 W/ a‘)’g
e 24" o.C. 1 Jo PLYWOOD
REF 04/52.| e SPACERS E 9
vE
M \ 02
\ sa.l
(R P

(E) DEEP STEEL JOIST

(FVv) e 4-0"o0cC.

|
(

f

COORDINATE EXTENT OF
NEW BLADE FRAMING W/
ARCH. DNGS.

N—(3) 2x6 W/ SIMPSON
! HUC26-3 HANGERS
! EACH END

INSTALL 2x P.T. TO EXISTING W/

(2) /4"® x&" TITEN MASONRY
SCRENWS @ & O.C. VERTICAL

ROOF FRAMING PLAN

SCALE: 1/4" = |'-0"

ROOF FRAMING PLAN NOTES

1.

TAW N

ATTENTION ALL BIDDERS

REFER TO WENDY'S APPROVED SUPPLIERS
LIST TO OBTAIN NATIONAL ACCOUNT
PHONE NUMBERS AND CONTACTS.

FIELD VERIFY ALL EXISTING DIMENSIONS, ELEVATIONS AND CONDITIONS WHICH AFFECT

THE NEWN WORK. EXISTING FRAMING SHOWN ON PLAN IS NOT GUARANTEED AND MAY CONFLICT
NITH THE NEWN FRAMING REQUIRED. WHERE CONFLICTS BETWEEN THE NEA AND EXISTING
FRAMING OCCUR, THE CONTRACTOR SHALL SUBMIT A FIELD SURVEY SHOWING ALL DISCREPANCIES
NITH THE EXISTING AND NEW FRAMING. BASED ON THE REPORTED FIELD CONDITIONS, THE
ARCHITECT WILL SUBMIT SUPPLEMENTAL INSTRUCTIONS FOR ALL FRAMING (NEW OR EXISTING)

REQUIRING MODIFICATION.
COORDINATE ALL DIMENSIONS WITH ARCHITECTURAL DRAWINGS.
FOR DIMENSIONS NOT SHOWN.

SEE ARCHITECTURAL DRAWINGS

SEE 04/52.1 AND 05/92.1 FOR TYPICAL EXISTING ROOF JOIST BLOCKING DETAILS.

SEE SHEET $0.1 FOR STRUCTURAL NOTES.
SEE 05/52.1 FOR CANOPY ATTACHMENT AS REQUIRED.

Digitally signed by

Ronald A Roberts

Date: 2022.01.12
12:53:04-06'00

RONALD A.
ROBERTS, P.E.

2948 N. Stemmons Freeway
Dallas, Texas 75247—-6103
Phone: (214) 637-6299
www.rara.net

SITE NUMBER: 00915
BUILDING TYPE: 3076
ASSET TYPE: FREESTANDING
CLASSIFICATION: REFRESH
OWNER: STARBOARD
BASE VERSION: 2021 SPRING
UPGRADE CLASSIFICATION:

N/A
PROJECT YEAR: 2022

DESIGN TYPE: (2.0) UM BRIGHT

DRAWING RELEASE: 2021 SPRING

|
Linear Architecture LLC

Philip Kemery,
Architect

4436 Harvest Hill Rd.
Dallas, TX 75244
PHONE: 972.929.9226

STARBOARD GROUP

12540 W. ATLANTIC BLVD.

CORAL SPRINGS, FL 33071
OFFICE: (954)255-2266

/-\>-
¢ o=
0 I
[ ) H >
QO
EEC m
oS ®
m [Je)
e
< ZEI o™
=~
nOL
A — - -
028
- O
O) — E
O «—
o<
F
REV. DATE DESCRIPTION
ISSUE DATE: 12/xx/2021
PROJECT NUMBER: 21-121
DRAWN BY:
CHECKED BY
SEAL
WwWiliieg,,

o WINREW 5 2,
SV CE N f%:(%\’/
5§:;ﬂ;' f aoao:&‘a
& pNo.38354 ’i‘p =
it N Lo~
— 4 STATE OF [ =2
T on L AL
// 0/(‘%", l O R \ g t‘; \g\/\\\

“, '{A "o.,”u”“o_,o'.\c;,;\ \\
’.f;fflom\\_ AR
“rigpr

SHEET NAME

FRAMING PLAN
AND SECTIONS

SHEET NUMBER

52.1


AutoCAD SHX Text
ROOF FRAMING PLAN NOTES  1. FIELD VERIFY ALL EXISTING DIMENSIONS, ELEVATIONS AND CONDITIONS WHICH AFFECT     THE NEW WORK. EXISTING FRAMING SHOWN ON PLAN IS NOT GUARANTEED AND MAY CONFLICT     WITH THE NEW FRAMING REQUIRED.  WHERE CONFLICTS BETWEEN THE NEW AND EXISTING      FRAMING OCCUR, THE CONTRACTOR SHALL SUBMIT A FIELD SURVEY SHOWING ALL DISCREPANCIES     WITH THE EXISTING AND NEW FRAMING.  BASED ON THE REPORTED FIELD CONDITIONS, THE     ARCHITECT WILL SUBMIT SUPPLEMENTAL INSTRUCTIONS FOR ALL FRAMING (NEW OR EXISTING)      REQUIRING MODIFICATION.  2. COORDINATE ALL DIMENSIONS WITH ARCHITECTURAL DRAWINGS.  SEE ARCHITECTURAL DRAWINGS      FOR DIMENSIONS NOT SHOWN.  3. SEE 04/S2.1 AND 05/S2.1 FOR TYPICAL EXISTING ROOF JOIST BLOCKING DETAILS.  4.  SEE SHEET S0.1 FOR STRUCTURAL NOTES. .  SEE SHEET S0.1 FOR STRUCTURAL NOTES. EE SHEET S0.1 FOR STRUCTURAL NOTES.  5. SEE 05/S2.1 FOR CANOPY ATTACHMENT AS REQUIRED.

AutoCAD SHX Text
ROOF FRAMING PLAN

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
(E) DEEP STEEL JOIST

AutoCAD SHX Text
(E) DEEP STEEL JOIST

AutoCAD SHX Text
(E) DEEP STEEL JOIST

AutoCAD SHX Text
COORDINATE EXTENT OF NEW BLADE FRAMING W/ ARCH. DWGS.

AutoCAD SHX Text
(3) 2x6 W/ SIMPSON HUC26-3 HANGERS EACH END

AutoCAD SHX Text
(3) KING  STUDS (TYP.)

AutoCAD SHX Text
SIMPSON HUC610

AutoCAD SHX Text
INSTALL 2x P.T. TO EXISTING W/ (2)  "  x6" TITEN MASONRY 14"  x6" TITEN MASONRYSCREWS @ 8 O.C. VERTICAL

AutoCAD SHX Text
INSTALL 2x P.T. TO EXISTING W/ (2)  "  x6" TITEN MASONRY 14"  x6" TITEN MASONRYSCREWS @ 8 O.C. VERTICAL

AutoCAD SHX Text
(3) 2x12 W/ 12 PLYWOOD SPACERS

AutoCAD SHX Text
(3) JACK STUDS W/ LSTA24 EA. SIDE HDR TO BEAM

AutoCAD SHX Text
03

AutoCAD SHX Text
S2.1

AutoCAD SHX Text
02

AutoCAD SHX Text
S2.1

AutoCAD SHX Text
01

AutoCAD SHX Text
S2.1

AutoCAD SHX Text
BLOCKING BEHIND BLADE @ 24" O.C.  REF 04/S2.1

AutoCAD SHX Text
ATTENTION ALL BIDDERS REFER TO WENDY'S APPROVED SUPPLIERS LIST TO OBTAIN NATIONAL ACCOUNT PHONE NUMBERS AND CONTACTS.

AutoCAD SHX Text
T/EXIST. C.M.U. 112'-8" (+/-)

AutoCAD SHX Text
FIELD VERIFY

AutoCAD SHX Text
T/FRAMING

AutoCAD SHX Text
SEE ARCH. DWGS.

AutoCAD SHX Text
(EL. 117'-6" MAX.)

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
COORD. W/

AutoCAD SHX Text
COORD. W/

AutoCAD SHX Text
COORD. W/

AutoCAD SHX Text
COORD. W/

AutoCAD SHX Text
2x6 AT 16" O.C.

AutoCAD SHX Text
WOOD STRUCTURAL PANEL WALL SHEATHING, TYP.

AutoCAD SHX Text
CONT. (2) 2x6 PL.

AutoCAD SHX Text
2x6 AT 16" O.C.

AutoCAD SHX Text
CONT. (2) 2x6

AutoCAD SHX Text
CONT. 2x6 RIM JOIST, TYP.

AutoCAD SHX Text
2x6 AT 16" O.C.

AutoCAD SHX Text
WOOD STRUCTURAL PANEL ROOF SHEATHING

AutoCAD SHX Text
EXIST. 20 GAGE STEEL ROOF DECK. (F.V.)

AutoCAD SHX Text
EXIST. STEEL ROOF JOIST

AutoCAD SHX Text
2x6 BRACE AT 16" O.C.  LAP BRACE TO STUD E.E. AND FASTEN W/ (4) 10d NAILS

AutoCAD SHX Text
(4) 10d NAILS (TYP.)

AutoCAD SHX Text
EXIST. 2x8 WD. PL. W/ 1/2" DIA. ANCHOR RODS AT 48" O.C. F.V. INSTALL ANCHOR ROD W/ SIMPSON SET XP EPOXY (8" MIN. EMBED) IN GROUTED CMU IF NOT EXIST.

AutoCAD SHX Text
CONT. P.T. 2x8 LEDGER.  FASTEN TO EXIST. C.M.U. W/ (2) 1/4" DIA. x6" TITEN MASONRY SCREWS W/ 1-1/2" EMBED. IN GROUTED CMU & SIMPSON BP 5/8-3 BOLT AT 16" O.C. 

AutoCAD SHX Text
CONT. (2) 2x8 PL.  FASTEN PL'S. TO EXIST. TOP PL. W/ (2) SIMPSON SD25412 SCREWS.  PROVIDE SOLID WOOD SHIMS BETWEEN TOP OF UPPER PL. AND BOT. OF EACH HORIZONTAL 2x6 BRACE. 

AutoCAD SHX Text
SIMPSON A35 CLIP @ 32" O.C.

AutoCAD SHX Text
S3

AutoCAD SHX Text
2x6 AT 16" O.C. W/ (4) 10d NAILS AS SHOWN

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
WALL SECTION

AutoCAD SHX Text
SCALE: 3/4" = 1'-0"

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
SIMPSON A35 CLIP (TYP.) INSTALL USING SCRWS

AutoCAD SHX Text
2x6 @ 32" O.C. (HORIZ.) @ EA. CONT. 2x (VERT.)

AutoCAD SHX Text
BLKG. REF. 04/S2.1

AutoCAD SHX Text
SIMPSON H3 CLIP (TYP.)

AutoCAD SHX Text
EXIST. BRICK TO REMAIN

AutoCAD SHX Text
SIMPSON H3 (TYP.)

AutoCAD SHX Text
EXIST. CMU

AutoCAD SHX Text
T/EXIST. C.M.U. 112'-8" (+/-)

AutoCAD SHX Text
FIELD VERIFY

AutoCAD SHX Text
T/FRAMING

AutoCAD SHX Text
SEE ARCH. DWGS.

AutoCAD SHX Text
(EL. 117'-6" MAX.)

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
COORD. W/

AutoCAD SHX Text
COORD. W/

AutoCAD SHX Text
COORD. W/

AutoCAD SHX Text
COORD. W/

AutoCAD SHX Text
2x6 AT 16" O.C.

AutoCAD SHX Text
WOOD STRUCTURAL PANEL WALL SHEATHING, TYP.

AutoCAD SHX Text
CONT. (2) 2x6 PL.

AutoCAD SHX Text
2x6 AT 16" O.C.

AutoCAD SHX Text
CONT. 2- 2x6

AutoCAD SHX Text
CONT. 2x6 RIM JOIST, TYP.

AutoCAD SHX Text
2x6 AT 16" O.C.

AutoCAD SHX Text
WOOD STRUCTURAL PANEL ROOF SHEATHING

AutoCAD SHX Text
2x6 BRACE AT 16" O.C.  LAP BRACE TO STUD E.E. AND FASTEN W/ (4) SIMPSON SDS25300 SCREWS.

AutoCAD SHX Text
(4) 10d NAILS (TYP.)

AutoCAD SHX Text
CONT. P.T. 2x8 LEDGER.  FASTEN TO EXIST. C.M.U. W/ (2) 1/4" DIA. x6" TITEN MASONRY SCREWS W/ 1-1/2" EMBED. IN GROUTED CMU & SIMPSON BP 5/8-3 BOLT AT 16" O.C. 

AutoCAD SHX Text
2x8 TO CONN. TO CONT. 2x LEDGER

AutoCAD SHX Text
CONT. (2) 2x8 PL.  FASTEN PL'S. TO EXIST. TOP PL. W/ (2) SIMPSON SD25412 SCREWS.  PROVIDE SOLID WOOD SHIMS BETWEEN TOP OF UPPER PL. AND BOT. OF EACH HORIZONTAL 2x6 BRACE. 

AutoCAD SHX Text
SIMPSON A34 CLIP @ 32" O.C.

AutoCAD SHX Text
2x6 AT 16" O.C. W/ 10d NAILS AS SHOWN

AutoCAD SHX Text
WALL SECTION

AutoCAD SHX Text
SCALE: 3/4" = 1'-0"

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
SIMPSON A35 CLIP (TYP.) INSTALL USING SCRWS

AutoCAD SHX Text
CONT. 2x6 W/(2) #12 SCREWS @ 16" O.C. 

AutoCAD SHX Text
SIMPSON H3 CLIP (TYP.)

AutoCAD SHX Text
EXIST. BRICK TO REMAIN (F.V.)

AutoCAD SHX Text
SIMPSON H3 (TYP.)

AutoCAD SHX Text
EXIST. CMU

AutoCAD SHX Text
B.O. FRAMING

AutoCAD SHX Text
REF. ARCH.

AutoCAD SHX Text
T.O. (E) OPNG.

AutoCAD SHX Text
F.V.

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
SIMPSON A35 EA. SIDE OF LAPPED STUD/BRACE.  FASTEN TO STUD/BRACE AND CONT. PL. W/ (6) 10d x 1-1/2" NAILS (12 TOTAL NAILS PER A35).

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
BEAM REF. PLAN

AutoCAD SHX Text
BRACE EACH SIDE OF STUD AT BEAM

AutoCAD SHX Text
SIMPSON SP2 EA/ SIDE OF THE STUD

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
SIMPSON SP2 CLIP AT EACH STUD

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
S3

AutoCAD SHX Text
SIMPSON A35 EA. SIDE OF LAPPED STUD/BRACE.  FASTEN TO STUD/BRACE AND CONT. PL. W/ (6) 10d x 1-1/2" NAILS (12 TOTAL NAILS PER A35).

AutoCAD SHX Text
SIMPSON SP2 CLIP AT EACH STUD

AutoCAD SHX Text
CONT. P.T. 2x6 LEDGER.  FASTEN TO EXIST. C.M.U. W/ (3) 1/4" DIA. x6" TITEN MASONRY SCREWS IN GROUTED CMU AT 16" O.C. 

AutoCAD SHX Text
BEAM REF. PLAN

AutoCAD SHX Text
CONT. L5x5x  W/  "  14 W/  "  12"   x4" TITEN MASONRY SCREWS TO WALL @ 16" O.C.

AutoCAD SHX Text
(E) METAL DECK

AutoCAD SHX Text
316

AutoCAD SHX Text
TYP

AutoCAD SHX Text
316

AutoCAD SHX Text
L4x4x  BLKG. 14 BLKG. PER PLAN

AutoCAD SHX Text
PL. "x4"x4"38"x4"x4"

AutoCAD SHX Text
(E) CMU WALL (F.V.)

AutoCAD SHX Text
(E) ANGLE LEDGER (F.V.)

AutoCAD SHX Text
(E) STL. JOIST REF. PLAN 

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
SCALE: 3/4" = 1'-0"

AutoCAD SHX Text
EXIST. 20 GAGE STEEL ROOF DECK. (F.V.)

AutoCAD SHX Text
EXIST. STEEL ROOF JOIST

AutoCAD SHX Text
CONT. L5x5x  W/  "  x4" TITEN MASONRY 14 W/  "  x4" TITEN MASONRY 12"  x4" TITEN MASONRY   x4" TITEN MASONRYSCREWS TO WALL @ 16" O.C. 

AutoCAD SHX Text
BLKG. REF. 04/S2.1

AutoCAD SHX Text
EXIST. 2x8 WD. PL. W/ 1/2" DIA. ANCHOR RODS AT 48" O.C. F.V. INSTALL ANCHOR ROD W/ SIMPSON SET XP EPOXY (8" MIN. EMBED) IN GROUTED CMU IF NOT EXIST.

AutoCAD SHX Text
CONT. P.T. 2x8 LEDGER.  FASTEN TO EXIST. C.M.U. W/ (3) 1/4" DIA. x6" TITEN MASONRY SCREWS W/ 1-1/2" EMBED. IN GROUTED CMU AT 16" O.C. @ 5'-0" VERT.

AutoCAD SHX Text
#12 TEK SCREWS @ 4" O.C. DECK TO NEW BLKG. (8 TOTAL)

AutoCAD SHX Text
#12 TEK SCREWS @ 4" O.C. DECK TO NEW BLKG. (8 TOTAL)

AutoCAD SHX Text
2x8 TO CONN. TO CONT. 2x LEDGER

AutoCAD SHX Text
PARTIAL WALL SECTION

AutoCAD SHX Text
SCALE: 1" = 1'-0"

AutoCAD SHX Text
(4) 10d NAILS (TYP.)

AutoCAD SHX Text
2x6 STUDS @ 16"O.C. 

AutoCAD SHX Text
WD. STRUCTURAL PANEL ROOF SHEATHING

AutoCAD SHX Text
(4) 10d NAILS (TYP.)

AutoCAD SHX Text
2x6 BRACE @ 32" O.C. (MAX) W/ (3) 10d NAILS

AutoCAD SHX Text
2x6 @ 16"O.C. 

AutoCAD SHX Text
T./FRAMING SEE

AutoCAD SHX Text
ARCH. DWGS.

AutoCAD SHX Text
WD. STRUCTURAL PANEL WALL SHEATHING

AutoCAD SHX Text
2x BLKG.

AutoCAD SHX Text
2x6 STUDS @ 16"O.C. 

AutoCAD SHX Text
WD. STRUCTURAL PANEL WALL SHEATHING

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
(EL.= 117'-6" MAX.)

AutoCAD SHX Text
P.T. 4x6 W/ 2-  "  58" SCREW ANCHORS @ 16" O.C. W/ 2" MIN. EMBEDMENT EA. ANCHOR

AutoCAD SHX Text
58"   A36 THRD. RODBOLT W/ WASHER @ 18"O.C. (MAX.) (TOTAL 4 MIN.)

AutoCAD SHX Text
CANOPY FRAME REF. ARCH. /MNFR. (3'-0" CANTILEVER MAX)

AutoCAD SHX Text
P.T. 3x12 CONT. BLKG. BEHIND CANOPY

AutoCAD SHX Text
(E) CMU WALL

AutoCAD SHX Text
CANOPY CONN. DETAIL

AutoCAD SHX Text
SCALE: 1 1/2" = 1'-0"

AutoCAD SHX Text
(E) LINTEL FIELD VERIFY CONTACT EOR IF NOT PRESENT

AutoCAD SHX Text
(E) BRICK

AutoCAD SHX Text
FULLY GROUTED CMU

AutoCAD SHX Text
2948 N. Stemmons Freeway Dallas, Texas 75247-6103 Phone: (214) 637-6299   www.rara.net

AutoCAD SHX Text
RONALD A. ROBERTS, P.E.


	Sheets and Views
	S2.1


		2022-01-12T12:53:04-0600
	Ronald A Roberts
	I am approving this document




